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Reading Comprehension (Seen)
1. Read the passage carefully and anwer the questions that follow :

Once [ crept in an oakwood—I was looking for a stag.
I met an old woman there—all knobbly stick and rag.
She said; “I have your secret here inside my little bag.”

Then she began to cackle and I began to quake.
She opened up her little bag and I came twice awake—
Surrounded by a staring tribe and me tied to a stake.

They said : *“We are the oak-trees and your own true family.
We are chopped down, we are torn up, you do not blink an eye.
Unless you make a promise now—now are going to die.

“Whenever you see an oak-tree felled, swear now you will plant two.
Unless you swear the blank oak bark will wrinkle over you
And root you among the oaks you where born but never grew.”

This was my dream beneath the boughs, the dream that altered me.
When | came out of the oakwood, back to human company,
My walk was the walk of a human child, but my heart was a tree.

A. Answer the questions (each question carrying one mark) : 1x7=7

(i) How did the tribe introduce themselves?
Ans.
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(11) When did the poet come twice awake?
Ans.

(iii) What would happen to the poet if he failed to make the promise?
Ans.

(iv) Describe the appearance of the old lady in the Oakwood?
Ans,

(v) What would the narrator have to promise?
Ans.

(vi) What was it that altered the poet?
Ans.

(vii) What was the poet’s realization Coming out of the Oakwood?
Ans.
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. Fill in the blanks with appropriate articles : " Yax6=3

Swami stopped the roadside to make his mind

Samuel. Samuel was not such a bad man after all. Personally he was

much more friendly than the other teachers. Swami also felt Samuel had a special regard

him. Swami’s head was dizzy +« ° confusion.

more he thought of Samuel the more Swami grieved for him.

C. Transformation of Sentences : 1x5=5
(i) He is too short to reach the fruit of the tree. (Rewrite the sentence by removing ‘too’ and
'I{J I'J
Ans. .

(ii) Tell me what your name is. (Turn into simple sentence)

(iii) It is not necessary for you to come tomorrow. (Rewrite using ‘need’)

{iv) St Paul’s Cathedral is the biggest church in our locality. (Change the degree of comparison)
Ans.

(v) Some one wrote this letter in the nineteenth century. (Voice Change)
Ans.
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D. Paragraph Writing : 10

Write a paragraph (in about 120 words) on ‘Friendship’ based on the following points :
[Importance of friends—can share personal matter—help in time of need—a relation beyond
selfish motives|




MOQUOTA-2022 f XI (Science) / §
1. fendre erga Tea we : 1x15=15

(i) <= cnfom ZTICs = = |
. L)

(ii) Photonastic 557 f&¢

(iii) ‘TfAEs" &
T

(iv) o e fe
T

(v) CTGET Saeraibl G IRTes Tomra ¢
T

(vi) Rhodopsin f&?
T

(vii) Ttxtt TR F, ol 301

(viii) Rl & 9w e
T .




MQUOTA-2022/ XI (Science) / 6
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1. 2ifefd eivera Taa wte 1x9=9
() (x-2) +(x+y) =0 TAy @@= Ffww

Ans.

(i) CRTCAT =% JOFI = I = 2d, THO! =% 3, fede T :% TA—
I, h 6 d-a7 7=/ fasfm 3301

Ans.

(iii) §=ﬁ s w1

Ans.

(iv) a +5x+b=0 mw%a _o (7, a6 b @z FiE facfa )

Ans.

V) [ﬁ—a] 0 TR A A

Ans.
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(vi) xﬂti: A 2x+ 3y A N FEAGU 26TR T x : y F© P 3

Ans.

(vii) ABCD 327 5Y$Isa AB Z(¥l O (F&% 3083 IP1| LABC = 60° @R £CAD = 35° T#
ZBCD (3 IR 3G ¢

Ans.

(viii) 100 BT y% 24 y* qataa 79 7 fefa 29
Ans.

(ix) W & “EreiaTe i = 0 98 o AR =T R Fo
Ans.

2, =l arrsr T we 2x8=16
(i) = oS SUR € TR WEAFE T %;m%mt
Ans.
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(ii) ABCD B1fP(femies AB | | DC @& AD @ BC 37 B P ¢ Q R b e wafs (3,
PG || DC; ¥ PD = 18 cm, BQ =35 cm, QC = 15 cm, AD =387

Ans.

(iii) @l wreTTes (0, &7 @ B! IAFTH a, b SR ¢; WHEGH V G FHASFR CFIF= S
2(1,.1. 1
0, S A (S, %='§(;+F+F]

Ans.,

@) (V7+1) (V5+3) e oD et

Ans.

(V) x=cy+bz,y=az+cx R z=bx+ay e Ae (4, x‘:y’.=(1*a’):[l-b’]_

Ans.




MQUOTA-2022 / X1 (Science) / 15

. a b g - UG a b e
(vi) b+c+c+a+a+bq] - Q, b+c+c+a+a+b_b
Ans. .

. 43 30 V18
(wii) = ffa == -0 W?l— 8 34203
Ans.

(viii) (b—c)x +(c—a)x+(a-b)=0 furs Fiwar= ey 77w T, (NS @, 2h=a+c

Ans.
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